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Which of the following is a derived unit?

A - Cubic meter (m’)
B - Second (s)
C - Kilogram (kg

D - Meter (m)
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Which of the following s a base unit?
A-n

B-gf e’

C-L

D-kg

okl btng ol 4
m'- A

o/cn’ -B

L-C

g-D
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What is the density of the cube

substance shown in the figure below?

A - 1080 g/cm’
B - 102 g/em’
C - 78 gjcm’

D-75g/cn’

alinl JSA 3 gl el 50k S L

1080 g/cm” - A

102 gfcm’ - B

78 gfem’ - C

90 g = ( mass ) 1<)
7.59/cm’-D

12 em’ = ( volume ) 22!
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19 !cm’-A

144 g/em’ - B

160 g/em*— C

12g/cm’~-D




What is the density of the cube substance shown in
the figure below?
A-209cm’
B-171 e’
C-10cn’

D-5cem’
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What is the correct scientific notation for the

measurement 450000 m?

A-450x10°m

B-45x10*m

C-45x10°m

D-0.45%10°m
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{: 4.5 x 10° mac

0.45%x10°m-D
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What is the correct scientific notation forthe
measurement 0.00000459 kg?

A-459%10%kg
B-459%103kg
C-459%107kg

D- 459 x 10%kg
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the table?

A — Accurate but not precise
B — Precise but not accurate
C — Not Accurate or precise

D — Accurate and precise

The acceptable value for body mass is 15.63 kg.

What correctly describes the experimental data in

Experiment | Measurement !l L il
1 12.84 kg 12.84 kg 1
2 13.02 kg 13.02 kg 2
3 12.96 kg 12.96 kg 3

15.63 kg A pes I Algiall Aadl
Cpanll B Fupsadl il

dhguie yo @Kl dads— A

s e e A B |

&MMJ@QHJ—C
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The accepted value for the length of a science
book is 32.50 cm. If the student's
measurement is 33.30 cm. What is the
percentage of error?

A—(-4.25 %)

B—(1.75 ")

C—(-0.597 %)

D - (2.46 %)

S L 32.50 cm aglell QBS Jokal Al gaall Aol

elasll Ll 2l L. 33.30 cm s k) s

33 30-—3150:0.%

QQ (‘4.25% )—ﬁ
= N oo 1.75 %) — B
32-bg { ’

(-0.597%) - C

(246 % ) - D
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The acceptable value for body massis 60.5 g . What
correctly describes the experimental data in the table?

A - Accurate but not precise

B - Accurate and precise

C — Precise but not accurate

JS..:I,‘L_-L.Q_.]E_;:JH h_ﬁ{]_Sg‘é_ﬁ ﬁ;ﬂﬁﬂﬁﬂl Azl
6l 3 el il s

dosume i g Kldidy— A

_t_..-.dﬂ;.um _53;;}_5:—]3

FHART AR AR §

il il dh o Cual ydaga - )

60.4 1

60.5 2

D —Not Accurate or precise | Experiment | Measurement
1 60.4
2 60.5
3 60.6

60.6 3
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The accepted measurement of the volume of a liquid
sample is 15.20 mL. If the student's measurement is
14.80 mL. What is the percentage of error”

OE1Y 15,20 mL b s (aie s A1 il gl

: ): flaall &yl 4l L 14.80 mL p L g

- B d
A-(425%) & O 9"-&\ (425% )- A
=lhdll 4, giall duuill (175%)- B
' o b [Rsiad Aail — ot Aagh | (175%)-
B-(1.75%) ) o007 I | T |
C-(3.50%) (3.50%)-C

D-(263%)

[lbdll dillaal) dadl) 33L)
(263%)-D
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Which of the following statements is true for the line

graphs in the figure below?

A — The mass decreases with increasing volume

B — The mass increases with the increase in size

C — The relationship between mass and volume is
inverse

D — The slope of the line is not constant

§20.0 em’, 54 g)

Mass (g)

Sl Sl gl Lad daaa 260 cjladl

ealaal Jga) A adll
aaadl 2l ae 25K i — A

&1—“ alaaj - absll iz — B

3o aaally AECH o A — C

A |
I {h0.0 cm'/ 2T g}

B Ll sl ladll Qe — D
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A — Proton charge
B — Proton mass
C — Electron mass

D — Njicleus charge

By experimenting with the drop of oil shown in the figure

below, Millikan was able to calculate
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Using the data in the lable below, what is the value
of X and Y, which equal to the number of neutrons
in each isolope?

A-(X=20,Y=18)

B-(X=18 ,Y=20)

C-(X=52.Y=54)

D-(X=54 ,Y=52)

2o gl Al Y5 X e U5 Al L oolia] Syl cilily i e

£ S b i )

(Y=18 3 X=20 )-A
(Y=204 X=18 )-B
(Y=54,5 X=52)-C

f‘l"“‘flz_, K‘ﬁ*l }"D

el C | n T

Mumber of

NEutions

2 Cl | 37C1 | a5
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The deflection of the cathode rays towards the
positively charged plate in the electric field
indicates that it is composed of .........ccvvvvnnen
A — Positively charged protons

B — Negatively charged protons

C — Positively charged electrons

D — Negatively charged electrons
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Using the data in the table below, what is the
value of X and Y, which equals to the number
of neutrons in each isotope?

A—(X=36 ,Y=34)

B-(X=34 ,Y=36)

C—(X=92 ,Y=94)

D-(X=94 ,Y=92)

s Y s X e U A e csliaf Jgoall il Lkl

¢ julas S 8 ciliy igull e (gl

(Y=34,X=36 )—A
(Y=36, X=34 )—B
(Y=94,X=92 )-C

(Y=92,4X=94 )-D
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What is the series of emitted rays correspond to
e Ga S da gk ae 38lsm Al Ahenal) Aty AL L

electrons dropping from a higher—energy orbit to the
PRng . o ¢(n = 3) U (sina Y lof AL 3 (g5ine

energy orbit (n = 3)?
L ( ) (Sl ) ) Al ALl — A

A — The X — rays series (Brackett) .. . .
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B — The ultraviolet series (Lyman)
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C — The visible series (Balmer),
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D — The infrared (Paschen) series
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